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Ted Cook

Director, Tax Policy Branch
Finance Canada

90 Elgin Street

Ottawa, ON K1A 0G5

Dear Mr. Cook:
Subject: Subsection 55(2) material and Part IV

Earlier this year, we sent to the Department of Finance some examples illustrating some of the
issues and challenges identified by the Joint Committee and other members of the tax
community with respect to the interaction of subsection 55(2), as now amended, with the
Part IV and capital dividend account provisions of the Income Tax Act (Canada) (the “ITA”).

Our understanding is that Part IV tax is intended as an anti-deferral tax and is simply a part of
the integration system, rather than as a substitute for permanent corporate tax. Accordingly,
it is refunded when dividends are paid and, if those dividends are not paid to a corporation
entitled to the subsection 112(1) deduction, the integration system should work so that
appropriate tax is being paid on the earnings from which the dividend is paid. Accordingly, we
expressed the concern that subsection 55(2) should not apply to the dividend that initially
gave rise to the refunded Part IV tax and the view that the changes to the Part IV tax
exception in subsection 55(2) distort the system of integration, producing results that could
be either more or less favourable than intended.

We also expressed concerns about compliance because the Ottawa Air Cargo case suggests
that the Part IV refund must be claimed and assessed in a return before subsection 55(2) can
be applied (i.e., the refund is a precondition to subsection 55(2)) requiring unnecessary
administrative complexity and costs to file amended tax returns. There is also uncertainty
regarding the potential "circularity" that might arise in connection with late capital dividend
(“CDA”) elections. With the significantly expanded scope of subsection 55(2) and the proposed
narrowing of the Part IV tax exception, the compliance burden is significantly heightened.



This material was submitted on an informal basis following initial discussions between
members of the Joint Committee and certain representatives of the Department. Our
objective in sending the material was to respond and engage quickly and, in keeping with that
objective, the material is not as detailed as our formal submissions, with many of the
examples being presented in point form. However, as you know, the Joint Committee’s role
includes informing the tax community regarding potential issues arising under the tax
legislation as it is amended as well as engaging with the Department regarding amendments
to that legislation

We understand that the Department has considered the material we submitted informally
and that the Department does not believe that further discussions on the issues are
necessary at this time.

Accordingly, and in keeping with our objective of informing the tax community, we are
enclosing the material under cover of this letter and will be providing it to the commercial
publishers, as is done with our formal submissions.

The Joint Committee would like to acknowledge the significant contributions of the following
individuals in the preparation of this material.

Bruce Ball- BDO Dunwoody LLP Rick McLean - KPMG LLP
Ken Griffin — PWC LLP Eric Xiao — EY LLP

We trust that you will find our comments helpful and would be pleased to discuss them
further at your convenience.

Yours very truly,

> /|

Kim G. C. Moody K.A. Siobhan Monaghan

Chair, Taxation Committee Chair, Taxation Section
Chartered Professional Accountants of Canada Canadian Bar Association
Cc:

- Brian Ernewein, General Director, Tax Policy Branch, Tax Legislation Division, Finance Canada
- Gabe Hayos, Vice President, Taxation, CPA Canada
- Tamra Thomson, Director, Legislation and Law Reform, Canadian Bar Association



Subsection 55(2)
Part IV Tax Exception



Part IV Exception

e “the amount of the dividend (other than the portion of it, if any, subject to tax under Part IV that is not
refunded as a consequence of the payment of a dividend by a corporation where the payment is part of

the series referred to in subsection (2.1)) ...”

e Ottawa Air Cargo Centre Ltd. v. The Queen, 2008 DTC 6177 (FCA)

e there must be an actual assessment of Part IV tax and a dividend refund and not the potential
application of tax and a refund but for the application of subsection 55(2)



Scenario 1: Assumptions

e 55(2) applies if a dividend or deemed dividend is paid by Opco to Holdco
e For example:
* Holdco owns “freeze” preferred shares in Opco with no safe income X

e Shares in Opco held by Holdco are redeemed resulting in an 84(3)
dividend and resulting in an unrelated person event described in 55(3)(a)

e Opco has 1,000,000 of RDTOH

* Opco had earned investment income of 3,749,531
* Permanent tax: 19.5% 731,159 Holdco
e Total 46.17% 1,731,159

e Opco / Holdco have no existing CDA

e Opco to pay dividend / deemed dividend to Holdco RDTOH: 1,000,000

Cash: 2,000,000 Opco

* No other dividends will be paid to Holdco

* For example, all of Opco’s assets will be distributed on dividend or redemption
fully satisfies redemption value of Holdco’s shares in Opco

* Holdco has no other assets
* All tax rates shown are Federal and Ontario 2015



Scenario 1: Step 1: Opco pays dividend to Holdco

X
e Opco pays 3,000,000 dividend to Holdco

Dividend received by Holdco: 3,000,000

Part IV tax paid by Holdco: 1,000,000 Holdco
Cash available in Holdco: 2,000,000

RDTOH: 1,000,000

Dividend paid by Opco: 3,000,000 Opco
Opco dividend refund: 1,000,000




Scenario 1: Step 2: Holdco pays dividend to individual

* Holdco pays 3,000,000 dividend to individual X
* Includes recovery of RDTOH

* X pays personal tax at ineligible rate of 40.13%

* As aresult of Holdco’s complete refund of Part IV
tax, Holdco is now subject to 55(2) on entire
dividend received from Opco

* See next page

Taxable dividend received:

Tax paid by X:
Cash available:

Cash available in Holdco:
RDTOH:

RDTOH:

3,000,000
1,203,900
1,796,100

o

Holdco

Opco




Scenario 1: Dividend received by Holdco now recharacterized as gain

e As a result of Holdco’s complete refund of Part IV tax
(in Step 2), Holdco is now subject to 55(2) on entire Cash available:
dividend received from Opco

* Holdco subject to tax at corporate tax rate of 23.09%
55(2) deemed gain:

* Permanent tax at 9.75% Permanent tax on CG 9.75%:

e Refundable tax at 13.33%

Refundable tax on CG 13.33%:

Less refund:
e Dividend paid by Holdco in Step 2 is sufficient to

recover refundable tax on deemed gain CDA (from deemed gain):
» Dividend paid Step 2: 3,000,000 Cash available in Holdco:
e Refundable tax on deemed gain: 400,000

e Holdco liable for tax of 292,500 but has no cash

e Entire cash dividend received by Holdco from
Opco was paid to Individual X

¢ Individual X would need to fund Holdco tax
liability

1,796,100

3,000,000
292,500

400,000
400,000

1,500,000
(292,500)

Holdco

Opco




Scenario 1: Summary of tax paid

* Investment income earned by Opco: 3,749,531
e Corporate tax rate on investment income: 46.2%

* Total tax if 55(2) applies

* Individual X (40.13% on 3M): 1,203,900
* Holdco (9.75% on 3M): 292,500
* Opco 19.5% on 3.75M: 731,159
Total 2,227,559
% (of 3,749,531) 59.4%
e CDA of 1,500,000 has been stranded in Holdco
e |f55(2) had not applied, total tax would be:
e Individual X (40.13% on 3M): 1,203,900
* Opco 19.5% on 3.75M: 731,159
Total 1,935,059
% (of 3,749,531) 51.6%

e |f 3,749,531 earned directly by Individual
* Taxrateis 49.5%

Holdco

Opco




Scenario 1: Revised: Alternative 1

After Holdco has been deemed not to have received a dividend from Opco and
has a deemed gain, can Holdco late file a CDA election?

Assume Holdco initially paid the taxable dividend (in step 2) in 2 amounts
e 1,500,000
e 1,500,000

Total tax
* Individual X (40.13% on 1.5M): 601,950
e Holdco (9.75% on 3M): 292,500
* Opco 19.5% on 3.75M: 731,159
Total 1,625,609
% (of 3,749,531) 43.35%

Does CDA election retroactively mean that Holdco did not fully recover Part IV
tax on dividend received by Opco that caused 55(2) to apply to entire dividend?

Initially, Holdco paid taxable dividends of 3M that caused full dividend
refund such that 55(2) applied

If portion of dividend is now a CDA paid, does that “undo” the 55(2)
recharacterization (in part)?

Or, alternatively, once Holdco is assessed under 55(2), is it not necessary
to look back to the initial dividend received and dividend refund?

Taxable dividend received:
CDA received:

Tax paid by X:

Cash available:

Tax paid:
Cash available:

Tax paid:
Cash available:

1,500,000
1,500,000

601,950
2,398,050

292,500
(292,500)

731,159

0

Holdco

Opco




Scenario 1: Revised: Alternative 2

e |f the structure was revised so that X owned Holdcol, Holdco 1

owned Holdco2 and Holdco2 owned Opco Taxable dividend received: 1,207,500 X
.. CDA received: 1,500,000
Opco pays dividends to Holdco2 Tax paid by X: 484,570
e Holdco2 pays dividends to Holdcol
e Causes 55(2) to apply to dividend received by
Holdco2 because Holdco2 receives dividend refund
. tAss:r)uerZe; dividend received by Holdco1l not subject Tax paid: 292,500
O Cash available (before 3M —292,500 Amalco
* Amalgamate Holdcol and Holdco2 Dividends paid to X):
* Amalco has CDA of 1,500,000
Total tax Tax paid: 731,159
Individual X (40.13% on 1.2075M): 484,570 Cash available: o | Opco
Holdco (9.75% on 3M): 292,500
Opco 19.5% on 3.75M: 731 159
1,508,229
Total

% (of 3,749,531) 40.22%



Scenario 1: Summary of tax rates

* Corporate tax rate on investment income:

e Ondistribution to individual - if no 55(2) to Holdco:

* On distribution to individual - if 55(2) applies to Holdco:

e Ifinvestment income earned directly by Individual:
* |f CDA election is available if 55(2) applies to Holdco:

e |f use Holdcol and Holdco?2 structure:

46.2%
51.6%
59.4%
49.5%
43.4%
40.2%

Holdco

Opco




Scenario 2: Assumptions

e 55(2) applies if a dividend or deemed dividend is paid by Opco to Holdco
* See Scenario 1 Assumptions

e Opco has $1,000,000 of RDTOH

e Opco had earned investment income of 3,749,531
* Permanent tax 19.5% 731,159
e RDTOH 26.67% 1,000,000
e Total 46.17% 1,731,159

e Opco has no CDA
e Opco to pay dividend / deemed dividend to Holdco

e Holdco has cash that would be distributed to Individual X as eligible dividends
e Amountis 1,792,500 (“backed into” for illustration)
e CDA on Holdco deemed gain 1,500,000
* Holdco tax on deemed gain 292,500
e 1,792,500 from ABI previously earned in amount of 2,438,776
e Tax rate at 26.50% - tax of 646,276
e GRIP balanceis 72% of 2,438,776 = 1,755,919

Cash:

Cash:
RDTOH:

1,792,500

2,000,000
1,000,000

Holdco

Opco




Scenario 2: Step 1: Opco pays dividend to Holdco

e Opco pays 3,000,000 dividend to Holdco

Dividend received by Holdco:

Part IV tax paid by Holdco:

Opening cash:

Cash received:

Part IV tax:

Cash available in Holdco:

Dividend paid by Opco:
Opco dividend refund:

3,000,000
1,000,000

1,792,500
3,000,000
(1,000,000)
3,792,500

3,000,000
1,000,000

Holdco

Opco




Scenario 2: Step 2: Holdco pays dividend to individual

e Holdco pays 3,000,000 dividend to individual X
* Includes recovery of RDTOH of 1,000,000

* X pays personal tax at ineligible rate of 40.13% and eligible
rate of 33.82%

e Holdco has GRIP of 1,755,919 (page 11)
e Taxis 1,755,919 x .3382 + 1,244,081 x .4013 = 1,093,102

e Asaresult of Holdco’s complete refund of Part IV tax, Holdco
is now subject to 55(2) on entire dividend received from
Opco

* See next page

Taxable dividend received:

Tax paid by X:
Cash available:

Cash available in Holdco:
RDTOH:

3,000,000
1,093,102
1,906,898

1,792,500
0

Holdco

Opco




Scenario 2: Dividend received by Holdco now recharacterized as gain

e As a result of Holdco’s complete refund of Part IV tax X
(in Step 2), Holdco is now subject to 55(2) on entire _
dividend received from Opco Cash available: 1,906,898
* Holdco subject to tax at corporate tax rate of 23.09%
* Permanent tax at 9.75% _
o 55(2) deemed gain: 3,000,000
* Refundable tax at 13.33% Permanent tax on CG 9.75%: 292,500 Holdco
 Dividend paid by Holdco in Step 2 is sufficient to Refundable tax on CG 13.33%: 400,000
recover refundable tax on deemed gain Less refund: 400,000
e Dividend paid Step 2: 3,000,000 CDA (from deemed gain) 1,500,000
e Refundable tax on deemed gain: 400,000 Cash available in Holdco: 1,500,000

(1,792,500 -292,500)
e Holdco liable for tax of 292,500

Opco




Scenario 2: Holdco pays CDA to Individual X

* Holdco pays its cash of 1,500,000 to Individual X and
elects CDA

Cash available:

Cash available in Holdco:

3,406,898

0

Holdco

Opco




Scenario 2: Summary of tax paid

e Investment income earned by Opco: 3,749,531

Corporate tax rate on investment income:

* ABIl earned by Holdco: 2,438,776

Corporate tax rate on ABI:

* Total income earned by corporations 6,188,307

* Total tax if 55(2) applies

Individual X (page 13): 1,093,102
Holdco (9.75% on 3M): 292,500
Holdco (26.5% on 2,438,776): 646,276
Opco 19.5% on 3.75M: 731,159

Total 2,763,037

% (of 3,749,531 + 2,438,776 = 6,188,307)

CDA of 1,500,000 has been used to distribute ABI to X

e If 55(2) had not applied, total tax would be:

Individual X 1,812,432
(40.13% x 3,036,581 + 33.82% x 1,755,919):

Opco 19.5% on 3.75M: 731,159

Holdco 26.5% on 2.44M: 646,276
e Total 3,189,867

% (of 3,749,531 + 2,438,776)

46.2%

26.5%

44.6%

51.5%

Holdco

Opco




Scenario 2b: Assumptions

e 55(2) applies if a dividend or deemed dividend is paid by Opco to Holdco

e See Scenario 1 assumptions

* Holdco has cash that would be distributed to Individual X as ineligible dividends and would
result in dividend refund to Holdco

e |f Holdco has deemed gain on dividend received from Opco, Holdco could use its cash
to fund permanent tax on deemed gain and pay CDA (from deemed gain) to
Individual X

 Amount of cash needed is 1,198,637 (“backed into” for illustration)
e CDA on Holdco deemed gain 1,500,000
e Corporate tax on deemed gain 292,500

1,792,500
* Holdco RDTOH available (593,863)
1,198,637
e 1,198,637 from investment income previously earned in amount of 2,226,708
Opco Holdco
3,749,531 2,226,708
* Previously earned investment income (A) 731,159 434,208
e Permanent tax 19.5% 1,000,000 593 863

e RDTOH 26.67%
« Total 46.17% (B)
e Cash (A)-(B)

1,731,159 1,028,071
2,018,372 1,198,637

Cash: 1,198,637
RDTOH: 593,863
1,792,500

Cash (rounded). 2,000,000
RDTOH: 1,000,000

Holdco

Opco




Scenario 2b: Step 1: Opco pays dividend to Holdco

e Opco pays 3,000,000 dividend to Holdco

Opening RDTOH:

Part IV tax paid by Holdco:

Closing RDTOH:

Opening cash:

Cash received:

Part IV tax:

Cash available in Holdco:

Dividend paid by Opco:
Opco dividend refund:

593,863
1,000,000
1,593,863

1,198,637
3,000,000

(1,000,000)
3,198,637

3,000,000
1,000,000

Holdco

Opco




Scenario 2b: Step 2: Holdco pays dividend to individual

* Holdco pays 3,000,000 dividend to individual X
* Includes recovery of RDTOH of 1,000,000

Taxable dividend received:

Tax paid by X:
* X pays personal tax at ineligible rate of 40.13% Cash available:

* As aresult of Holdco’s complete refund of Part IV
th{ Holdco is now subject to 55(2) on entire Opening RDTOH:
dividend received from Opco Dividend refund:

* See next page Closing RDTOH:

Opening cash:

Dividend paid:

Dividend refund:

Cash available in Holdco:

3,000,000

(1,203,900)
1,796,100

1,593,863

(1,000,000)
593,863

3,198,637
(3,000,000)
1,000,000
1,198,637

Holdco

Opco




Scenario 2b: Dividend received by Holdco now recharacterized as gain

e As a result of Holdco’s complete refund of Part IV tax
(in Step 2), Holdco is now subject to 55(2) on entire

dividend received from Opco

Holdco subject to tax at corporate tax rate of 23.09%
3,000,000

e 55(2) deemed gain:

e Permanent tax at 9.75%:
e Refundable tax at 13.33%:

e CDA:

292,500
400,000

1,500,000

Dividend paid by Holdco in Step 2 is sufficient to

recover refundable tax on deemed gain

e Dividend paid Step 2:
e RDTOH:

3,000,000

993,863

Cash available:

Opening RDTOH:
Refundable tax:
Total:

Dividend refund:
Closing RDTOH:

Opening cash:

Tax on deemed gain:
Dividend refund:

Cash available in Holdco:

CDA (from deemed gain)

1,796,100

593,863
400,000
993,863

(993,863)
0

1,198,637
(692,500)

993,863
1,500,000

1,500,000

Holdco

Opco




Scenario 2b: Holdco pays CDA to Individual X

* Holdco pays its cash of 1,500,000 to Individual X and
elects CDA

Cash available:

Cash available in Holdco:

3,296,100

0

Holdco

Opco




Scenario 2b: Summary of tax paid

* Investment income earned by Opco:

Corporate tax rate on investment income:

* Investment income earned by Holdco:

Corporate tax rate on investment income:

e Total income earned by corporations

* Total tax if 55(2) applies

Individual X (40.13% on 3M):
Holdco (9.75% on 3M):
Holdco (19.5% on 2,226,708):

Opco 19.5% on 3.75M:
Total
% (of 5,976,239)

3,749,531

2,226,708

5,976,239

1,203,900

292,500

434,208

731,159
2,661,767

CDA of 1,500,00 has been used to distribute investment

income to X

e If 55(2) had not applied, total tax would be:

Individual X (40.13% on 3,000,000):
Individual X (40.13% on 1,792,500):
Opco 19.5% on 3.75M:
Holdco 19.5% on 2,226,708:

e Total
% (of 5,976,239)

e Ifinvestment income earned directly by individual

1,203,900
719,330
731,159
434,208

3,088,597

46.2%

46.2%

44.5%

51.7%

49.5%

Holdco

Opco




Scenario 3: Assumptions

55(2) applies if a dividend or deemed dividend is paid by
Opco to Holdco

See Scenario 1 assumptions

Opco realizes a CG of $2,000,000
e Permanent tax: 9.75% 195,000
e RDTOH 13.33% 266,667
e Total 23.09% 461,667

Opco / Holdco have no existing CDA

Opco to pay proceeds as dividend / deemed dividend to
Holdco

No other dividends will be paid to Holdco

* For example, all of Opco’s assets will be distributed on
dividend or redemption fully satisfies redemption value
of Holdco’s shares in Opco

Holdco has no other assets

Proceeds from sale:
Permanent tax:
Cash available (includes RDTOH):

RDTOH:
CDA:

2,000,000
195,000
1,805,000

266,667
1,000,000

Holdco

Opco




Scenario 3: Step 1: Opco pays dividends to Holdco

X
* Opco pays CDA to Holdco: 1,000,000
e Opco pays taxable dividend to Holdco: 805,000
* Holdco pays Part IV tax of 266,667 ,
CDA received: 1,000,000
Taxable dividend received: 805,000 Holdco
Part IV tax paid by Holdco: 266,667
Cash available in Holdco: 1,538,333
RDTOH: 266,667
CDA paid: 1,000,000 Opco
Taxable dividend Paid: 805,000

Opco dividend refund: 266,667



Scenario 3: Step 2: Holdco pays dividends to individual

* Holdco pays 1,000,000 CDA dividend to individual X

* Holdco pays 805,000 taxable dividend to individual X
Includes recovery of RDTOH

e X pays personal tax at ineligible rate of 40.13%

e As aresult of Holdco’s complete refund of Part IV
tax, Holdco is now subject to 55(2) on entire
dividend received from Opco

See next page

Capital dividend received:

Taxable dividend received:

Tax paid by X:
Cash available:

CDA paid:
Taxable dividend paid:
RDTOH refund:

Cash available in Holdco:

1,000,000
805,000
323,047

1,481,953

1,000,000
805,000
266,667

0

Holdco

Opco




Scenario 3: Dividend received by Holdco now recharacterized as gain

* As a result of Holdco’s complete refund of Part IV tax X
(in Step 2), Holdco is now subject to 55(2) on entire Cash available: 1,481,953
taxable dividend received from Opco

* Holdco subject to tax at corporate tax rate of 23.09%

e Permanent tax at 9.75%

55(2) deemed gain: 805,000
e Refundable tax at 13.33% %:
0 Permanent tax on CG 9.75%: 78,488 Holdco
. . . . . Ref | 13.33%: 107,
* Dividend paid by Holdco in Step 2 is sufficient to efundab e_tax on €G 13.33% 07,333
: Less refund: 107,333
recover refundable tax on deemed gain
* Dividend paid Step 2: 805,000 CDA (from deemed gain): 402,500
 Refundable tax on deemed gain: 107,333 Cash available in Holdco: (78,488)
e Holdco liable for tax of 78,488 but has no cash
e Entire taxable dividend received by Holdco 0
from Opco was paid to Individual X pco

e Individual X would need to fund Holdco tax
liability



Scenario 3: Summary of tax paid

* (Capital gain realized by Opco: 2,000,000
e Corporate tax rate on CG:

* Total tax if 55(2) applies

e Individual X (40.13% on 805,000): 323,047
e Holdco (9.75% on 805,000): 78,488
* Opco 9.75% on 2,000,000: 195,000

Total 596,535

% (of 2,000,000)

e CDA of 402,500 has been stranded in Holdco

e |f 55(2) had not applied, total tax would be:

e Individual X (40.13% on 805,000): 323,047
* Opco 9.75% on 2,000,000: 195,000
e Total 518,047

% (of 2,000,000)

e 1f 2,000,000 CG earned directly by Individual
* Taxrateis:

23.1%

29.8%

25.9%

24.8%

Holdco

Opco




Scenario 3: Revised

After Holdco has been deemed not to have received a dividend from Opco and
has a deemed gain, can Holdco late file a CDA election?

Assume Holdco initially paid the taxable dividend (in step 2) in 2
amounts

Total tax

e 402,500
e 402,500
Individual X (40.13% on 402,500): 161,523
Holdco (9.75% on 805,000): 78,488
Opco (9.75% on 2M): 195,000
Total 435,011
% (of 2,000,000) 21.75%

Does CDA election retroactively mean that Holdco did not fully recover Part IV
tax on dividend received by Opco that caused 55(2) to apply to entire
dividend?

Initially, Holdco paid taxable dividends that caused full dividend refund
such that 55(2) applied

If portion of dividend is now a CDA paid, does that “undo” the 55(2)
recharacterization (in part)?

Or, alternatively, once Holdco is assessed under 55(2), is it not necessary
to look back to the initial dividend received and dividend refund?

Taxable dividend received:
CDA received:

Tax paid by X:

Cash available:

Tax paid:
Cash available:

Tax paid:
Cash available:

402,500
1,402,500
161,523
1,643,477

78,488
(78,488)

195,000
0

Holdco

Opco




Scenario 3: Summary of tax rates

* Corporate tax rate on CG:

e Ondistribution to individual - if no 55(2) to Holdco:

e Ondistribution to individual - if 55(2) applies to Holdco:

e |f CG earned directly by Individual:
e |f CDA election is available if 55(2) applies to Holdco:

23.1%
25.9%
29.8%
24.8%
21.8%

Holdco

Opco




Scenario 4: Assumptions

e 55(2) applies if a dividend or deemed dividend is paid by Opco to
Holdco — see Scenario 1 assumptions

* Opco realizes a CG of $2,000,000 X
* Permanent tax: 9.75% 195,000
« RDTOH 13.33% 266,667
e Total 23.09% 461,667
e Opco / Holdco have no existing CDA Cach 480,088 Holdco
e Opco to pay proceeds as dividend / deemed dividend to Holdco
* Holdco has cash that would be distributed to Individual X as eligible
dividends
) ) ) ) Proceeds from sale: 2,000,000
* Amount is 480,988 (“backed into” for illustration) Permanent tax: 195,000 Opco
e CDA on Holdco deemed gain 402,500 Cash available 1,805,000
* Holdco tax on deemed gain 78,488 (includes RDTOH):
e 480,988 from ABI previously earned in amount of RDTOH: 266,667
654,405 CDA: 1,000,000

e Taxrate at 26.50% - tax of 173,417
* GRIPis 72% of 654,405 = 471,172



Scenario 4: Step 1: Opco pays dividends to Holdco

* Opco pays CDA to Holdco: 1,000,000

* Opco pays taxable dividend to Holdco:
805,000

* Holdco pays Part IV tax of 266,667

e (Cash available in Holdco:

* Opening 480,988
e CDA received 1,000,000
e Taxable dividend received 805,000

e Total 2,285,988
e Part IV tax (266,667)
* Net 2,019,321

CDA received:
Taxable dividend received:
Part IV tax paid by Holdco:

Cash available in Holdco:
RDTOH:

CDA paid:
Taxable dividend paid:
Opco dividend refund:

1,000,000
805,000
266,667

2,019,321
266,667

1,000,000
805,000
266,667

Holdco

Opco




Scenario 4: Step 2: Holdco pays dividends to individual

* Holdco pays 1,000,000 CDA dividend to individual X X
e Holdco pays 805,000 taxable dividend to individual X Capital dividend received: 1,000,000
¢ Includes recovery of RDTOH Taxable dividend received: 805,000
Tax paid by X: 293,316
Cash available: 1,511,684
* X pays personal tax at ineligible rate of 40.13% and

eligible rate of 33.82%
° id: 1,000,000
Holdco has GRIP of 471,172 (page 30) CDA paid Holdco

o i _ Taxable dividend paid: 805,000
Taxis 471,172 x .3382 + 333,828 x.4013 = 293,316 RDTOH refund: 266,667
Cash available in Holdco: 480,988

e As a result of Holdco’s complete refund of Part IV tax,
Holdco is now subject to 55(2) on entire dividend

received from Opco
» See next page Opco




Scenario 4: Dividend received by Holdco now recharacterized as gain

e Asaresult of Holdco’s complete refund of Part IV tax
(in Step 2), Holdco is now subject to 55(2) on entire X

taxable dividend received from Opco Cash available: 1,511,684
* Holdco subject to tax at corporate tax rate of 23.09%
* Permanent tax at 9.75%
e Refundable tax at 13.33% 2)d ; 205,000
55 eemed gain: 5,
Permanent tax on CG 9.75%: 78,488 Holdco
e Dividend paid by Holdco in Step 2 is sufficient to
recover refundable tax on deemed gain Refundable tax on CG 13.33%: 107,333
« Dividend paid Step 2: 805,000 Less refund: 107,333
e Refundable tax on deemed gain: 107,333 CDA (from deemed gain): 402,500
Cash available in Holdco: 402,500
 Cash available in Holdco Opco
e 480,988 — 78,488 = 402,500




Scenario 4: Holdco pays CDA to Individual X

e Holdco pays its cash of 402,500 to Individual X
and elects CDA

Cash available: 1,511,684 + 402,500

Cash available in Holdco: 0

Holdco

Opco




Scenario 4: Summary of tax paid

* Capital gain realized by Opco: 2,000,000

» Corporate tax rate on CG: 23.1%
e ABIl earned by Holdco: 654,405

» Corporate tax rate on ABI: 26.5%

e Total income earned by corporations 2,654,405

e Total tax if 55(2) applies

* Individual X (page 32): 293,316
* Holdco (9.75% on 805,000): 78,488
e Holdco (26.5% on 654,405): 173,417
e Opco (9.75% on 2M): 195,000
Total 740,221
% (of 2,654,405) 27.9%

e CDA of 402,500 has been used to distribute ABI to X

e If 55(2) had not applied, total tax would be:

e Individual X (33.82% on 471,172): 159,350
e Individual X (40.13% on 814,816): 326,986
e 0Opco9.75% on 2M: 195,000
¢ Holdco 26.5% on 654,405 173,417
* Total 854,753

% (of 2,654,405) 32.2%

Holdco

Opco
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